Let's look at the W propagator:

$$\frac{i}{k} = \frac{i}{k^2 - m_u^2} \left(-y^{nv} + \frac{k^2 k^2}{m_u^2} \right)$$

For the pion decay example, $k = p_u + p_x = p_\pi$, and $k^2 = m_\pi^2 = (140 \text{ MeV})^2$ $\frac{k^2}{m_w^2} = 10^{-6}$, so we can approximate the propagator by taking $k \rightarrow 0$?

For the Tit decay diagram, this sives $\left(\frac{ic}{\sqrt{2}sin^{6}w}\right)^{2} \overline{v} r'\left(\frac{1-r^{5}}{r}\right)u \frac{i\eta_{nv}}{nv^{2}} \overline{u} r''\left(\frac{1-r^{5}}{r}\right)v = \frac{4}{5r} \frac{4}{5r} \overline{v} r'\left(\frac{1-r^{5}}{r}\right)u \overline{u} r'_{n}\left(\frac{1-r^{5}}{r}\right)v$ $We \left(\frac{4}{5r}\right) = \frac{e^{2}}{2mv^{2}sin^{5}w} = \frac{g^{2}}{2mv^{2}} = \frac{2}{v^{2}} \quad (all the 2is and \sqrt{2is} ar amoging historical convertions)$ $We (an preted that this amplitude come directly from a different Lagragian: <math>\mathcal{L} = \frac{4}{5r} \frac{4}{5r} \overline{d} r''(\frac{1-r^{5}}{r})u \overline{e} r'_{n}\left(\frac{1-r^{5}}{r}\right)v_{e}, \quad with Fernem rule$

$$u = \frac{e^{+}}{\sqrt{2}} \frac{1}{\sqrt{2}} \frac{4iG_{F}}{\sqrt{2}} \gamma^{n} \left(\frac{1-\gamma_{5}}{2}\right) r_{n} \left(\frac{1-\gamma_{5}}{2}\right) \frac{2}{\sqrt{2}}$$

$$\begin{split} & G_{\mu} \text{ is known on the Ferni Constant and this interaction is known as the
$$\frac{4}{4} - \frac{1}{4} \operatorname{const} \frac{1}{4} + \frac{1}{4} \operatorname{constant} \frac{1}{4} - \frac{1}{4} \operatorname{constant} \frac{1}{4} + \frac{1}{4} \operatorname{constant} \operatorname{con$$$$

From
$$p = k_1 + k_2 + k_3$$
, $(p - k_3)^{+} = (k_1 + k_2)^{+}$
 $m_{\mu}^{-} - 2m_{\mu}E = 2k_1 \cdot k_2 = 2k_1 \cdot k_2 = \frac{1}{2}(m_{\mu}^{-} - 2m_{\mu}E)$
 $= 32.6p^{+}(m_{\mu}^{-} - 2m_{\mu}E)(m_{\mu}E) \leq not + contact; neutrinal every
 $d_1 + h_1 + h_2 + h_3 = \frac{1}{2}(m_{\mu}^{-} - 2m_{\mu}E)(m_{\mu}E) \leq not + contact; neutrinal every
 $d_1 + h_1 + h_3 + h_3 + \frac{1}{2E_1} \frac{d^3k_1}{2E_1} \frac{d^3k_2}{2E_2} \leq 1/n!^{-} > \sqrt{n}(p - k_1 - k_3 - k_3)$
Since $\langle 1n|^{*} > n_1 \rangle \frac{d^2k_1}{2E_1} \frac{d^3k_2}{2E_1} \frac{d^3k_2}{2E_2} \langle 1n|^{*} > \sqrt{n}(p - k_1 - k_3 - k_3)$
Since $\langle 1n|^{*} > n_1 \rangle \frac{d^2k_1}{2E_1} \frac{d^3k_2}{2E_1} \frac{d^3k_2}{2E_1} \frac{d^3k_2}{2E_2} \int (m_{\mu} - E_1 - E_2 - E_1) \int (-k_1 - k_1 - k_1)$
 $= \int \frac{d^3k_2}{2E_1} \frac{1}{2E_1} \int (m_1 - \frac{1}{E_1 + k_1}) = \int \frac{d^3k_1}{2E_1} \frac{d^3k_2}{2E_2} \int (m_1 - \frac{1}{E_1 + k_1}) - E_2 - E_1)$
Write $(k_1 + k_2)^{*} = k_2^{*} + k_3^{*} + 2k_3 + k_3 +$$$

Note that the J-function also enforces limits on E integral! $E_{1}^{-} \ge 0 \Longrightarrow E \le \frac{m_{1}}{2}$

Putting all the pieces back together [4

$$\int_{m}^{m} = \frac{1}{(2\pi)^{5}} \frac{1}{2mm} \frac{\pi}{2} 4\pi \int_{m}^{m/2} dE \frac{E^{2}}{2E} 32G_{F}^{*}(m_{m}^{*}-2m_{m}E)(m_{m}E)$$

$$= \frac{G_{F}^{*}m_{m}^{5}}{192\pi^{3}}$$

Measuring the much lifetime thus gives a precise determination of GF! (Lots of important corrections from finite electron mass, photon emission From final state, etc.)

Consider two possible decay modes of the charged pion;

$$TT \rightarrow m^{-}\overline{v}_{n}$$
 and $TT \rightarrow e^{-}\overline{v}_{e}$. The W couples equally to electrons
and muons, and since $me \ll m_{\pi}$ but $m_{\mu}(106 \text{ MeV})$ is pretty close
to $m_{\pi}(140 \text{ MeV})$, we would expect the decay to muons to suffer
a phase space suppression $\int [-\frac{m_{\pi}^{2}}{m_{\pi}^{2}}$, and thus $Br(\pi \rightarrow mv_{\pi}) \leq Br(\pi \rightarrow ev_{e})$.
However, the opposite is true! $\frac{Br(\pi^{-} \rightarrow e^{-}\overline{v}_{e})}{Br(\pi^{-} \rightarrow m^{-}\overline{v}_{e})} = 1.23 \times 10^{-4}$, Let's see why.



If the \overline{u} and d quores were tree particles, this amplitude would be $V_{uA} \frac{4G_F}{52} \overline{v}(p_1) Y^{-1} \left(\frac{1-Y^5}{2}\right) u(p_2) \overline{u}(k_1) Y_{-1} \left(\frac{1-Y^5}{2}\right) v(k_2)$. But the pion is a bound state with nonperturbative QCD dynamics. We will parameterize on ipnome (the shuded blob) as follows (setting $V_{uA} = 1$ from now on): $C_0 | \overline{v}_1 Y^{-1} (1-Y^5) u_A | \overline{\pi}(p) \rangle = i p^{-1} \overline{F_{\pi}}$, where $\overline{F_{\pi}}$ is the some $\overline{F_{\pi}}$ we saw in the chiral Lagrangian (see Schwartz 28.2 for more details if you're wions!)

Thus
$$M_{\pi^{-}\pi^{-}}\overline{v_{e}} = \frac{G_{F}}{5\Sigma}F_{\pi}\rho^{-}\overline{u}(k_{1})Y_{e}(1-Y^{5})v(k_{2})$$

Since the pion has spin 0, there are no initial spins to average over.
Let's try setting the electron mass to zero in the spin sun:
 $(1M1^{+}) = \frac{G_{F}^{2}F_{\pi}^{-}}{2}\rho^{-}\rho^{\nu}Tr\left[\frac{k_{1}'Y_{\mu}K_{2}Y_{\nu}(2-2Y^{5})\right]$
As before, since $\rho^{-}\rho^{\nu}$ is symmetric, the Y⁵ tence with the E ferson
Varishes. However, the other trace is
 $\rho^{-}\rho^{\nu}\left(\frac{k_{1\mu}k_{2\nu}+k_{1\nu}k_{2\mu}-\eta_{\mu\nu}k_{1}k_{2}\right)=2(\rho\cdot k_{1})(\rho\cdot k_{2})-\rho^{2}k_{1}\cdot k_{2}$
But $\rho=k_{1}+k_{2}$, so $\rho^{2}=m_{\pi}^{2}$, $k_{1}\cdot k_{2}=\rho\cdot k_{1}=\rho\cdot k_{2}=\frac{n\pi}{2}$, and
 $\sum(\rho\cdot k_{1})(\rho\cdot k_{2})-\rho^{2}k_{1}\cdot k_{2}=\frac{m\pi^{4}}{2}-\frac{m\pi}{2}=0$. If the electron were
massless, this decay would be forbidden!
To undestand this, consider the helicities of the decay products:

$$\frac{h^{-+1}}{\nabla e} \xrightarrow{h^{--1}} e^{-\frac{h^{--1}}{2}}$$

The 4-Fermi interaction only couples left-handed spinors and right-handed antispinors. So one helicity must be positive and the other must be negative, but this violates momentum conservation since the pion is spin-o. On the other hand, fermion messes couple left- and right-handed spinors, so we can think of an insertion of me in the amplitude as a helicity flip.

$$\overline{V}$$
, \overline{T} , \overline{T} , \overline{T} , \overline{E} , \overline{E}

Therefore, $B = (\pi - se^{-\psi})$ is suppressed compared to $m^{-\psi}v_{n}$ by $\frac{m^{-\psi}}{m^{-\psi}} \approx 10^{-5}$ a little bit less than that when phase space suppression is included. Let's now see the Ferrica mass appear in two ways.

First, let's use explicit spinos. Work in the pion rest frame
$$p^{-1}(n_{\pi}, \overline{\sigma})$$
.

$$M = \frac{G_{\mu}}{S_{\Sigma}} F_{\pi} p^{\pi} \overline{u}(k_{1}) Y_{\pi} (1-Y_{5}) V(k_{s})$$

$$= \frac{G_{\mu} F_{\pi} n_{\pi}}{S_{\Sigma}} (u_{L}^{+}(k_{1}) u_{R}^{+}(k_{1})) Y_{0} Y_{0} (\frac{2}{\sigma} 0) (\frac{V_{L}(k_{s})}{V_{R}(k_{s})})$$

$$= \frac{1}{S_{\Sigma}} \frac{G_{\mu} F_{\pi} n_{\pi}}{S_{\Sigma}} (u_{L}^{+}(k_{1}) V_{L}(k_{s}))$$

$$= \frac{1}{S_{\Sigma}} \frac{G_{\mu} F_{\pi} n_{\pi}}{S_{\Sigma}} u_{L}^{+}(k_{1}) V_{L}(k_{s})$$
Recall from Schwartz Ch.11: $u_{L}(k) = \sqrt{E-k_{\Sigma}} \frac{5}{5}$, $V_{L}(k) = \sqrt{E-k_{\Sigma}} \frac{7}{5}$
where $\frac{5}{4} = (\frac{1}{\sigma})$ for spin-up but $\gamma = (\frac{1}{\sigma})$ for spin-down.
Since neutrino is messless, $E = |k_{z}|$. Define z-axis along electron direction, so
 $k_{\Sigma} = -E$ and $\frac{5}{5} = \eta_{5} = (\frac{1}{\sigma})$, giving $u_{L}^{+}(k_{1})v_{L}(k_{s}) = \sqrt{2k}$ $\sqrt{E-k}$ where $k_{1} = (E, 0, 9, k)$.
From $p = k_{1} + k_{\Sigma}$, we have $(p-k_{1})^{-1} = k_{\Sigma}^{-1}$, so $m_{1}^{-1} + m_{E}^{-1} \ge m_{\pi} = 0$
 $= \sum E = \frac{m_{1}^{2} + m_{E}^{-1}}{2m_{\pi}}$, $k = \sqrt{E^{2} - n_{E}^{2}} = \frac{m_{1}^{2} - n_{E}^{2}}{2m_{\pi}}$
 $[M]^{2} \propto k(E-k) = \frac{n_{\pi}^{2} - n_{\pi}^{2}}{2m_{\pi}}$ as predicked!
Gives spinson.
That was similar to our w decep calculation last week. Let's now see how the
Game answer arises in the spin-summed calculation when we restore me.

$$\left(|\Lambda|^{2} \right) = G_{F}^{2} F_{\pi} \rho^{n} \rho^{v} \operatorname{Tr} \left[(K_{1} + m_{e})Y_{n} K_{2}Y_{v} (1 - Y^{5}) \right]$$

$$I_{n} \operatorname{treestingly, as we found from top quark decas, the me piece in the trace does not contribute. Instead, we have to put me back in the dot products:
$$\left(|\Lambda|^{2} \right) = 4 G_{F}^{2} F_{\pi}^{-} \left(2(\rho \cdot k_{1})(\rho \cdot k_{2}) - \rho^{-} k_{1} \cdot k_{2} \right)$$

$$\operatorname{With} \operatorname{Masses, } \rho \cdot k_{1} = \frac{m_{\pi}^{-} + m_{e}^{2}}{2}, \ \rho \cdot k_{2} = \frac{m_{\pi}^{-} - m_{e}^{2}}{2} = k_{1} \cdot k_{2}$$

$$= 2 \left(|n| \right)^{2} = 4 G_{\rho}^{2} F_{\pi}^{-} \left(\frac{1}{2} \left(m_{\pi}^{-} + m_{e}^{2} \right) (m_{\pi}^{-} - m_{e}^{2}) - \frac{1}{2} m_{\pi}^{-} (m_{\pi}^{2} - m_{e}^{-}) \right)$$

$$= 2 G_{\rho}^{-2} F_{\pi}^{-} \left(\frac{1}{2} \left(m_{\pi}^{-} + m_{e}^{2} \right) m_{e}^{-} \right) \text{ Some factor as before }$$

$$\operatorname{From} \Gamma = \frac{k}{8\pi} \frac{\langle |A| \rangle^{2}}{m_{\pi}^{-}} \left(\operatorname{Ver} \left(\frac{\beta_{r}}{m_{\pi}} + m_{e}^{2} \right) m_{e}^{-} \right) = \frac{m_{e}^{2}}{m_{\pi}^{-}} \left(\frac{m_{\pi}^{-} - m_{e}^{-}}{m_{\pi}^{-} - m_{e}^{-}} \right)^{-} \frac{1}{m_{\pi}^{-} - m_{e}^{-}} \right)^{-} \frac{m_{\pi}^{-} - m_{e}^{-}}{m_{\pi}^{-} - m_{e}^{-}} \int_{0}^{\infty} m_{\pi}^{-} \left(\frac{m_{\pi}^{-} - m_{e}^{-} \right)^{-} \frac{m_{\pi}^{-} - m_{e}^{-}}{m_{\pi}^{-} - m_{e}^{-}} \right)^{-} \frac{m_{\pi}^{-} - m_{e}^{-}}{m_{\pi}^{-} - m_{e}^{-}} \int_{0}^{\infty} m_{\pi}^{-} \left(\frac{m_{\pi}^{-} - m_{e}^{-}}{m_{\pi}^{-} - m_{e}^{-}} \right)^{-} \frac{m_{\pi}^{-} - m_{e}^{-}}{m_{\pi}^{-} - m_{e}^{-}} \int_{0}^{\infty} m_{\pi}^{-} - m_{e}^{-} \int_{0}^{\infty} m_{\pi}^{-} \frac{m_{\pi}^{-} - m_{\pi}^{-}}{m_{\pi}^{-} - m_{e}^{-}} \int_{0}^{\infty} m_{\pi}^{-} \frac{m_{\pi}^{-} - m_{e}^{-}}{m_{\pi}^{-} - m_{e}^{-}} \int_{0}^{\infty} m_{\pi}^{-} - m_{e}^{-} \int_{0}^{\infty} m_{\pi}^{-} - m_{\pi}^{-} \int_{0}^{\infty} m_{\pi}^{-} \frac{m_{\pi}^{-} - m_{e}^{-}}{m_{\pi}^{-} - m_{\pi}^{-}} \int_{0}^{\infty} m_{\pi}^{-} - m_{e}^{-} \int_{0}^{\infty} m_{\pi}^{-} - m_{\pi}^{-} - m_{\pi}^{-} \int_{0}^{\infty} m_{\pi}^{-} - m_{$$$$